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import pandas as pd # 0.16.2

# The Insurance Company Benchmark 7 —2 D& iAH

" NRT—Z

dtype_train = {c: object if ¢ in range(64) else float for ¢ in range( )}

tic_train = pd.read_ csv( icdata2000.txt', header=None, delimiter='\t' /pe=dtype_train)

5% BMDIERE

cols_num = range(65, 85)

tic_train_num = tic_train[cols_num]

tic_train[cols_num] = (tic_train_num - tic_train_num.mean())/tic_train_num.std()
% N2 DRPER, BHER

X_train, y_train = tic_train.drop(85, 1).pipe(pd.get_dummies), tic_train[35]
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from sklearn import svm

from sklearn import metrics

¥ YRRV NCLDFER

svc = svm.SVCO

svc. fit(X_train, y_train)

#TART=ZICHTSTHN

pred = svc.predict(X_test)

# TRWEDFE

print(metrics.classification_report(tic_test_label, pred, target_names

precision recall fl-score support

avg / total
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scikit-learnDEEEDFRE

= scikit-learn “SVM: Unbalanced problems”

1.4.1.3. Unbalanced problems

In problems where it is desired 10 give more importance 10 cerlain casses or cenain individual samples Keywords
class_weight and sample_weight can be used.

SVC (but not NuSVC) implament a keyword class_weight in the fit method. It's a dictionary of the form {dass_kabel : valuel},
where value is a flicating pont number > 0 that sets the parameter C of class class_label 10 C * value

— 1O weghts

- with weights
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from sklearn import svm

from sklearn import metrics
# YR=IROZPNLEFR
svc_imb = svm.SVC(class_weigh

svc_imb.fit(X_train, y_train)

¥ TFRAIT=ZICHTEITHN

pred = svc_imb.predict(X_test)

¥ FHEDFS

print(metrics.classification_report(tic_test_label, pred, target_names=['0"', '1']))

precision recall fl-score support T

avg / total



